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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before attempting
it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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General Instructions :

®)
(i)
(iii)
(iv)
v)

(vi)

All questions are compulsory.
Please check that this question paper contains 26 questions.

Questions 1 - 6 in Section A are very short-answer type questions carrying 1 mark
each.

Questions 7 - 19 in Section B are long-answer I type questions carrying 4 marks
each.

Questions 20 - 26 in Section C are long-answer II type questions carrying 6 marks
each.

Please write down the serial number of the question before attempting it.
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Qug - A

SECTION - A

U9 GE&AT 1 W 6 doh ek W99 T 1 37 ¢

Question numbers 1 to 6 carry 1 mark each.

+3 -2
1. aﬁxeNaﬁTXS ) =8 ® dl x 1 HM JG HifoT |
— X
x+3 —2 )
If x e N and =8, then find the value of x.
—-3x 2x

2. IR WY Gishd C, » C,+2C, T 1o HHIRo T sy

@ 1003 Iml O

® 05 02 0p-1 B

Use elementary column operation C, - C,+2C; in the following matrix
equation :

@ 10 03 1D 1

0
® 05 02 0p-1 b

3. WHifc 2x2 & A AT ARl H1 FEA, w1 T&® 3@3d 1, 2 39T 3 T,

e |
Write the number of all possible matrices of order 2 X 2 with each entry 1, 2
or 3.
65/1/C 3 P.T.O.



4. <9 fag o feafq wfew fafe s foged, fome feufa wfew 3a —2b o1 2a +3b
g, & faa o1 X@RaE #1 2 : 1% SFIIE | diedr 2

Write the position vector of the point which divides the join of points with

position vectors 3a-— 26 and 2a + 31; in the ratio 2 : 1.

. . . - o o 0 - 0O O .
5. 37 W eyl %l He fafae s 9fcsil a=2i+/ +2k M b=j +k QM W
SERS
Write the number of vectors of unit length perpendicular to both the vectors

- o O O - 0O 0O
a=2i+j+2k and b=j +k.

6. 39 THAA 1 WY FHHIO Jd HIfTT, S foF x, y 3T 2-278T T HAT: 3, —4 3R
2 3d: TS Hedl § |

Find the vector equation of the plane with intercepts 3, —4 and 2 on x, y and
z-axis respectively.

Qg -9
SECTION - B

U9 WEAT 7 9 19 Tk Uk Y99 o 4 3k gl

Question numbers 7 to 19 carry 4 marks each.

7. 39 fog & fdumisr wifery Stef W faigedi A3, 4, 1) R B(5, 1, 6) H B I o
@1 XZ F9dA 1 Yfd=se &l €1 98 hi0 off I HIfST S I8 3@ XZ THd
® Y Il B

Find the coordinates of the point where the line through the points A(3, 4, 1)
and B(5, 1, 6) crosses the XZ plane. Also find the angle which this line makes
with the XZ plane.
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8. wwﬁwa@ﬁaﬁﬁwwﬁz?—fj—ﬁ3ﬁ12?+2mj+313%| THh Sl
foeRuil o FHIAR <1 A1 Ffee F1a hiterg | faenl & |iqel 1 TN Hih THiw
TqYS H1 &AE A BT |

0O O 0 o O 0
The two adjacent sides of a parallelogram are 2i —4j—5k and 27 +2j +3k.

Find the two unit vectors parallel to its diagonals. Using the diagonal vectors,
find the area of the parallelogram.

9, TS UMl % & T H Tk Afdd T 5 Siaal § Alc 39 4 9 It F& W Sl
T AN IE T 1 TR M1 1 9% Ao 3 IR I Tk o1 ol & ® &ifehd =R
Y FSI & U L W A BIS odl ¢ | AT R S/ S areft T i
ERIRIIEICECHIE Iy

SPEN

T I H 47T €1 agee 1 A1 fomn gfazeman & fepreft T AR <H1 Tthe W
TE | THH N Wiashal § T 91 o 9t S Wk ¥ 2

In a game, a man wins I 5 for getting a number greater than 4 and loses
3 1 otherwise, when a fair die is thrown. The man decided to throw a die thrice
but to quit as and when he gets a number greater than 4. Find the expected
value of the amount he wins/loses.

OR

A bag contains 4 balls. Two balls are drawn at random (without replacement)
and are found to be white. What is the probability that all balls in the bag
are white ?
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10.  x5I0% 4 (sinx)os* T x & GTUe] AThHAT HiTo |

SPEN

d?y  d
IfE y=2 cos(logx) + 3 sin(logx) T, T fag HifaT f xzd—g+xd—z+y=0 &
x

Differentiate x5 + (sinx)°°$* with respect to x.

OR

2
If y=2 cos(logx) + 3 sin(logx), prove that x2 M +x d_y +y=0.
dx2 dx

11. IS x=a sin 2t(1 +cos 2t) Ty =D cos 2t(1 — cos 2t) %, al t=% ELS 3_}/ 1A hifeT |
X

If x=a sin 2t(1 +cos 2t) and y=b cos 2t(1 —cos 2t), find % at t =£.
X

12. af T y2=ax3+b & fog (2, 3) T T¥ T@1 T GHIFU y=4x—5 &, I a
b % HH 1A RIS |

The equation of tangent at (2, 3) on the curve y2=ax3+b is y=4x—5. Find
the values of a and b.

13. @ HITST . I#dx
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sinZx
sinx + cosx

14. 9H 1 &N : dx

O |7

S PE])

3
2
HH G RIS £|xcos x| dx

™
2 )
sin“x
Evaluate : t[— dx
sinx + COSx
OR
3
2
Evaluate : | |x cos x| dx
0

15. I HINT ; [Bx + 14 — 3x — 2x2 dx
Find : [(3x + V4 — 3x — 2x2 dx

16. 3T THIHIU ki A HITWT :

Solve the differential equation :

dy dy

+ Y = f— —_—
Y xdx X ydx

65/1/C 7 P.T.O.



[aWa o

17. Tgda =qafsr & T8 901 & o F1 3aha GHIGL F1q Hitag S FHdwme el
1 T HA T

Form the differential equation of the family of circles in the second quadrant
and touching the coordinate axes.

18. x % oL & HIWT : sin~ lx+sin~ 1(1—x) =cos ™ lx

AUl
2
e cos™ —+cos %=a % a1 fag =ife W x 2—bcosa+i—2=sm2a g
a
Solve the equation for x : sin ™ lx+sin ™11 —x)=cos ~ 1x
OR
X,y x2 xy v’
If cos ~=+cos ~==a, prove that — — 2~ cosa+——51n «
a b a ab b

19. T & 1 < TR & 910 (789 99) # o7 Fafe fean 9ga sve # 10%
=TS 3R R d10E # 12% =& fHadr €1 g8 &l T 2,800 Fl S T g3l |
R AfC TR A SIA-aca] Hich FUEl § ¥ T B, @ 39 T 100 % SN
g1l BTl 3R fafy @ 3 wifSe fof g 7 fhaT 9 fafid feam g
TS 1 3eUdS sfedl § T fhal STUm | 39 T3 # ShF-H1 Yo <90 741 © 2

A trust invested some money in two type of bonds. The first bond pays
10% interest and second bond pays 12% interest. The trust received I 2,800
as interest. However, if trust had interchanged money in bonds, they would
have got ¥ 100 less as interest. Using matrix method, find the amount invested
by the trust. Interest received on this amount will be given to Helpage India
as donation. Which value is reflected in this question ?
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SECTION - C

U9 WEAT 20 § 26 Tk ek W9 & 6 3k ¢

Question numbers 20 to 26 carry 6 marks each.

20. YVTFR & TE A’ AR B &1 A T 12% TR 3R 5% FEFRIRE TES 8 Jain
B H 4% g 3R 5% HERIE Tfas g1 fugt & feafq wiemn & ag feam
I T g3 T U ®oa & faw &7 ¥ ®7 12 TR0 eeee 3r 12
HERIe TS & eTevdehd ¢ | A ‘A’ &1 ged % 10 Ifd fh.a. oIk ‘B &1 g3
T 8 gfd f.7m. Tt emera g1 uRiskfera HifST for S8 g&e TR &t fhat @]
TIN AT AT fof FH ¥ HF HFd H qWh q@l i TEwIehdl T4 7 S|

There are two types of fertilisers ‘A’ and ‘B’. ‘A’ consists of 12% nitrogen and
5% phosphoric acid whereas ‘B’ consists of 4% nitrogen and 5% phosphoric acid.
After testing the soil conditions, farmer finds that he needs at least 12 kg of
nitrogen and 12 kg of phosphoric acid for his crops. If ‘A’ costs ¥ 10 per kg
and ‘B’ cost ¥ 8 per kg, then graphically determine how much of each type of
fertiliser should be used so that nutrient requirements are met at a minimum
cost.

21. 20 3= T U 5 WS T AYAIE HRor 4 I T €1 9N g ST
JfqearamT o gfed Mt T, @ TUe Gal ol e i &A1 i GEfhdl 9
JT BT Fed T HIET q°T TERO7 o J1d HifS |

Five bad oranges are accidently mixed with 20 good ones. If four oranges are
drawn one by one successively with replacement, then find the probability
distribution of number of bad oranges drawn. Hence find the mean and
variance of the distribution.

65/1/C 9 P.T.O.



22.

23.

24.

foig P, forgen feufa wfew 2?+3D]'+4IE%@WF{ F.(2?+Dj+3?)—26=0m
©id T @ & e s feufa wfqw qen e g 9@ wifw 9a H§ P
gfdfers ot @ IS |

Find the position vector of the foot of perpendicular and the perpendicular

0O 0 O
distance from the point P with position vector 2i +3j +4k to the plane

- (oo O
r .(21' +j+ Sk) —26=0. Also find image of P in the plane.

Tyfse fo& we fgamurt wfear St A=R—{—1) W 9 a, b ¢ A & fay
a*b=a+b+ab R uRefoa © wu fafm= qon 9= €1 A # * &1 qo@q®
3TEFE T HIWC 791 g SN ff A &1 J&is 31999 FohAtig T

Show that the binary operation * on A=R —{—1} defined as a*b=a+b+ab
for all a, b € A i1s commutative and associative on A. Also find the identity

element of * in A and prove that every element of A is invertible.

fag wifsre for Tmfgarg B, fored » S5 &1 e sfaga @i T ], &1 <Aan
IRAT 631 Tl

3UAT
Ifg Uk wuehior et H ol qen weh oo 1 AW fean e B, @ quiiEe fE e

T AAHA ATYRdH BRI STk 3T &9 Al hI00 % B

Prove that the least perimeter of an isosceles triangle in which a circle of radius
r can be inscribed is 6/3 r.

OR

If the sum of lengths of hypotenuse and a side of a right angled triangle is
given, show that area of triangle is maximum, when the angle between them

is I
3"

65/1/C 10



25.

26.

g T o 0 2= dv S x2= 4y, 30 7 % 4w F1 A S o A
aﬁ%@lﬁi@'{\‘iﬁx=0,x=4,y=4 Sf[{y:ogmqﬁa@%|

Prove that the curves y2=4x and x2=4y divide the area of square bounded
by x=0, x=4, y=4 and y=0 into three equal parts.

GRIveh! & TUIEEt 1 FA R fag FIWY fF AABC T HHfgag e ® afe

1 1 1
1+ cosA 1+ cosB 1+cosC |=0 %l

cos?A +cosA  cosZB + cosB  cos?C + cosC

AUAT
T THMER & I T fafie J&R & 99 A%, ‘B’ 3R ‘¢’ €1 I 7 T& &R
I Th-Th U9 A T 21 § @S| SaT 7 ‘A’ THR o 4 99, ‘B’ THR & 3 U7 AR
‘C IR o 2 U9 % 60 H WIS Sefh @ 7 ‘A’ TR & 6 U, ‘B’ TR h 2 T
HARCIRR F3TTT 70§ Ble | g fafy § Y&® YR & U & 4o 9
RIS |

Using properties of determinants, show that AABC is isosceles if :

1 1 1
1+ cosA 1+ cosB l1+cosC |=0

cos?A + cosA  cos?B + cosB  cos2C + cosC

OR

A shopkeeper has 3 varieties of pens ‘A’, ‘B’ and ‘C’. Meenu purchased 1 pen
of each variety for a total of ¥ 21. Jeevan purchased 4 pens of ‘A’ variety,
3 pens of ‘B’ variety and 2 pens of ‘C’ variety for ¥ 60. While Shikha purchased
6 pens of ‘A’ variety, 2 pens of ‘B’ variety and 3 pens of ‘C’ variety for ¥ 70.
Using matrix method, find cost of each variety of pen.
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